Set-002 1 Physics PGT (LDCE)(1 to 120)

1.

The angle of 1"’ is equal to :

[360°= 27 radian, 1°=60 minutes(60’) and 1' =60 arc second (60'")]
(1) 1.745%10~% radian

(2) 4.85x107° radian

(3) 4.85x10~% radian

(4) 1.745x10~2 radian

If momentum (P), area (A) and time (T) are taken to be fundamental quantities, then energy has
the dimensional formula :

1) @AY
(2) (P2AlTY)
(3) pla2r!

4) pt A%T—l

The period of oscillation of a Simple Pendulum is T = 21'r . Measured value of L is 40.0 cm

known to 2 mm accuracy and time for 200 oscillation is fou 180 s using a wrist watch of
2 s resolution. The accuracy in the determination of ‘g’ 1

1) 2%
2) 7%

(2)

(3) 3% 0

4) 4% @

Each side of a cube is measured to b{@ What is the total surface area of the cube to

appropriate significant figures ?

(1) 246.3
(2) 164.2 \
(3)  164.199 Q
(4) 246.2979 Q
- A A A — N A A
The angle between two vectors A = i + 2j — k and B = —i + j — 2k, in radians is :
m
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6.

A toy train engine steadily moves in a circular track of radius 14 cm and completes 6 rounds in
80 s. Its angular speed and magnitude of acceleration respectively are :

(1) 0.4713 rad/s and 3.10 cm s~ 2
(2) 0.4713 rad/s and 31.02 cm s~ 2
(3) 0.7413 rad/s and 3.10 cm s~ !
(4) 0.7413 rad/s and 31.02 cm s~ !

An object of mass 2000 g is thrown at a speed of 16 m s~ 1 in a direction 45° above the horizontal.
The maximum height reached by the object is :

(1) 55m
2) 60m
3) 65m
4) 70m

Which of the following options represents the velocity - time graph of an object under free fall,
when vertical upward direction is taken as positive direction.

\Y%

(1) © t @
@90
. t Q{\((\
N
v O

O t




Set-002 3 Physics PGT (LDCE)(1 to 120)

9.

10.

11.

12.

A stone falls freely under gravity. It covers distances h;, h, and h; in the first 5 seconds, the next
5 seconds and the next 5 seconds respectively. The relation between h;, h, and h; is :

(1) h,=2h,=3h,

h, h

h, = 2 _ hs

(2 M= 5
h, h

h, = b2 _ hs

G M=

(4) hy=h,=h,

A bus at rest accelerates uniformly to a speed of 60 m/s in 15 s. What is the distance covered by
the bus ?

(1) 675 m
(2) 900 m
(3) 450 m
(4) 1800 m

Two parallel rail tracks run east-west. Train A moves east with a speed of 72 kmh ~! and train B
moves west with a speed of 108 kmh~L. The relative velocity of B with respect to A is :

(1) 50 m/s from west to east
2) 10 m/s from west to east 0

(2)
(3) 50 m/s from east to west
(4)

4) 10 m/s from east to west O
*
. o . , P 6t
A particle moves along a straight line. It @o at any instant ‘t’ is given by x = 24t — =

.
The acceleration of the particle at the @ t=2is:

4) —48 m/s?

(1) 24 m/s?

(2) —24 m/s? Q
(3) 48 m/s2 &
(4) Q
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13.

14.

15.

Three blocks with masses m, 2m and 3m are connected by strings, as shown in the figure. After an
upward force F is applied on block m, the masses move upward at constant speed v. The net force
on the block of mass 2m (g is the acceleration due to gravity) is :

1

[ ]

2m
3m l/ 8
(1) Zero
(2) 2mg
(3) 3mg
(4) 6mg

A stone of mass m tied to the end of a light string is rotat:
If T, and T, denotes the tensions in the string when the
of the vertical circle respectively, then, which of the fo&)

(1) T,-T;=2mg
.
2rnv2 @
2 Th-T =

R @
2
B) To—T —2my \

; \
4) T,~T,=-2mg S&
Six vectors, a through Qr :E e magnitudes and directions indicated in the figure. Which of

the following statements is

_ —
= v = s T N

g a vertical circle of radius R.
rossing highest and lowest point
expression is correct ?
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16. A man of mass 60 kg climbs on a rope which can stand a maximum tension of 950 N. In which of
the following cases will the rope break ?

Ignore the mass of the rope)
1

1

(

(1)  When the man climbs up with a uniform speed of 7.2 m s~
(2
(
(

) When the man climbs up with a uniform speed of 5.2 m s~
3)  When the man climbs up with an acceleration 7.2 m s~
)

2

2

4)  When the man climbs up with an acceleration of 5.2 m s~

17. There are four forces acting at a point P produced by 4 strings as shown in fig. When P is at rest,
the forces F; and F, are :
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18. A system consists of three masses M;, M, and M; connected by a string passing over a pulley P.
The mass M; hangs freely and M, and M; are on rough horizontal table (the coefficient of
friction=p). The pulley is frictionless and of negligible mass. The downward acceleration of mass

M, is:
Assume (M; =M,=M;=M)
M, M;
P
My

2gp
o =

gl — 2p)
@ B
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19.

20.

21.

22.

A block of mass M=2 kg is held stationary against a wall applying a horizontal force F on it as
shown in figure. If the co-efficient of friction between the block and wall is uw=0.25, find the
minimum value of F required to hold the block against the wall. (Take g=10 m s~ 2)

Wall
-
Z
i
M P
Z
Lé/
7
Z
i
i
i
(1) 20N
(2) 40N
(3) 80N
(4) 50N @
A vehicle enters a circular bend of radius 200 m at h. At what angle should the road
surface be ideally banked for safe driving at this spee ake g=10m/s?)

(1) 6=tan—1(0.2) Q) ¢

(2) 6=tan"1(0.3)

(3) 6=tan~1(0.4) . @

(4) 6=tan—1(0.1) K\

A force vector F = 61 — 8 ewton applied to a body provides it an acceleration of
magnitude 1 m/s? The

body is :

(1) 542 kg
(2)  10v2 kg
B) 15V2 kg
4) 2042 kg

A spherical ball of mass 20 kg is stationary at the top of a hill of height 100 m. It rolls down its
smooth surface to the ground, then climbs up another smooth hill of height 30 m and finally rolls
down to a smooth horizontal base at a height of 20 m above the ground. The velocity attained by
the ball is :

[Take g=10 m/s? ]
(1) 20m/s

(2) 40 m/s

(3) 10430 m/s
4) 10m/s



Set-002 8 Physics PGT (LDCE)(1 to 120)

23.

24.

25.

26.

27.

28.

During inelastic collision between two bodies, which of the following quantities always remains
conserved.

(1) Total kinetic energy

(2) Total mechanical energy
(3) Total linear momentum
(4) Speed of each body

A bullet of mass 10 g leaves a riffle at an initial velocity of 1000 m/s and strikes the earth at the

same level with a velocity of 500 m/s. The work done in joules overcoming the resistance of air
will be :

(1) 5000 ]
2) 3750 ]
3) 500 ]
4) 375]

If stretch in a spring of force constant K is doubled then the ratio of elastic potential energy in the
two cases will be :

(1) 4:1
2y 1:2
2:1
1:3 0

(2)
(3)
(4)
A metal ball of mass 2 kg moving with a velogj og? km/h has a head on collision with a
stationary ball of mass 3 kg. If after the Collisio® two balls move together, the loss in kinetic

energy due to collision is :
(1) 900 ] .
2) 225] \

23; 135 J K
4) 2507 5&

A person weighing 80 k %ss of 40 kg to the roof of a building 15 m high. If he takes 60
second to do so, then the er spent is :

[Take g=10m/s?]

(1) 100 W
2) 200 W
(3) 300 W
(4) 400 W

Two balls of unequal masses collide elastically. What is/are conserved in this process ? Choose
the correct option.

a) Total kinetic energy
b) Total linear momentum
c) Velocity of each ball

(

(

(

(d) Kinetic energy of each ball
(1) (a) and (b)

(2) (a) and (c)

(3) (b)and ()

4) (b), (c) and (d)
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29.

30.

31.

Match the following, regular shaped bodies of specific axis in List - I with their moment of inertia
in List - I

List - I List - II
. 2MR?
(A) Thin rod, length L I 5
Axis : Perpendicular to rod, at mid point
LZ
(B) Circular disc, radius R (I) Ni—z
Axis : perpendicular to disc, at centre
2
MR
(C) Hollow cylinder, radius R (III) —

Axis of cylinder
(D) Solid sphere, radius R (IV) MR?
Axis : Diameter

Select the correct answer using the codes given below :

(1) (A)-(D), (B)-(I), (C)-(I1), (D)-(IV)
(2)  (A)-(ID), (B)-(III), (O)-(IV), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)-(I), (D)-(1D) O
@) (A)-IV), (B)-(1), (O-(II), (D)-(III)

O

The angular speed of a motor wheel is increase@rﬁ 1800 rpm to 3240 rpm in 12 seconds. Its
e

angular acceleration, assuming the accelerati uniform will be :
(1) 2w rad/s?
2) 3w rad/s?

.
(2)
(3) 4w rad/s? &\
(4) 5w rad/s? \Q

Three masses are placed ices of a triangle as shown in figure. The co-ordinates (x, y) of
the centre of mass are neagst to :
Yy
5l 3kg
I
|
14 |
|
|
! 2k
0 ! -8 x
5kg 1 2
(1) 0.7,0.6
(2) 0.6,0.7
(3) 0.6, 0.6
4) 07,07
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32.

33.

34.

35.

36.

A uniform cube of mass m and side a is placed on a frictionless horizontal surface. A vertical force

—
F is applied to the edge as shown in fig. At what condition the cube will start/begin to rotate and
slip at A.

—

F

L)

LA ARRR L 7 ERRR A AN

mg
1 F<—>>
mg
2 F>—>
() F>mg
mg
4 F>—7

Three bodies, a ring, a solid cylinder and a solid sphere roll do e same inclined plane without
slipping. They start from rest. The radii of the bodies are id¢ntigal. Which body/bodies reaches

the ground with maximum velocity ?

(1) Solid sphere 0
(2) Ring (:}
(3) Solid cylinder @ .

(4) Solid cylinder and ring

.

The (time) rate of change of angular Nﬁ)f a particle is equal to :
(1) force r(

(2) torque \Q

(3) acceleration

(4) linear Momentum Q

Kepler’s second law is the consequence of the law of conservation of :
(1) Energy

(2) Linear Momentum

(3) Mass

(4) Angular Momentum

Suppose acceleration of gravity ‘g’ on the surface of Earth has a value 10 m/s?. Then the value of
acceleration due to gravity at a height of 96 km above the surface of Earth is :

Take Radius of Earth=6400 km)

(

1) 099g
2) 10lg
3) 098g
4) 097 g
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37.

38.

39.

40.

41.

The masses of two planets are in the ratio 3 : 4. Their radii are in the ratio 2 : 3. The acceleration
due to gravity on the planets are in the ratio :

1) 16:27
) 27:16
3) 36:12
4) 12:36

The mass of earth is about 9 times mass of a planet. The radius of Earth is about 6400 km and that
of planet is 3200 km. An objects weighs 180 N on the surface of Earth, then its weight on the
surface of the planet will be :

(1) 120N
2) 160 N
3) 80N
(4) 40N

The escape velocity from the surface of the earth is 12 km s~ L. If the radius of a planet be half the

th
radius of the Earth and its mass be % that of the Earth, escape velocity from the planet is :

(1) 12kms~! @
(2) 6kms~!

(3) 4kms~! 0

(4) 2kms~! 0

.
Select the correct statement from the followi @
() The orbital velocity of a satellite inct@asés with the radius of the orbit.

(I)  Escape velocity of a particle fro rface of the earth depends on the speed with which
it is fired.

III) The orbital velocity is inv&oporhonal to the square root of the radius of the orbit.

(

M O Cb
@ Q
(3) (m

(4) () and (II)

A steel wire of length 4.7 m and cross-sectional area 3.0 X 10~ m? stretches by the same amount
as copper wire of length 3.5 m and cross-sectional area of 4.0 X 10 ~° m? under a given load. The
ratio of the Young’'s modulus of steel to that of copper is :

(1) 3.8
2) 5.4
3) 1.8
4) 0.9
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42. Which of the following statement(s) is/are correct about ideal liquid ?
(A) The bulk modulus is infinite.
B) The bulk modulus is zero.
C

) The shear modulus is infinite.
D) The shear modulus is zero.

(
(
(
(
(
(
(

1) (A) and (C) are correct
2) (B) and (C) are correct
3) (A) and (D) are correct
4) (B) and (D) are correct
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43. Which of the following figures/graphs represents the stress-strain curve for the elastic tissue of

Aorta, the large tube (vessel) carrying blood from the heart ?

(A)
0.5 1.0
Strain —
T
1.0
£
Z
S 05
®
an
0.5 1.0
Strain —
' O
10 O
% O
g 05 ((\
-~ *
C &
( ) % K\
0.5 1.0
Strai
T
¢ 1.0
£
Z
S 05
D) &
9p)
0.5 1.0
Strain =
1 A
2 (B
3 ©
4 (D)
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44.

45.

46.

47.

48.

A structural steel rod has a radius of 10 mm and length of 1.5 m. A 94.2x 103 N force stretches it
along its length. The elongation of the rod is : (Young’s modulus of structural steel is
2.0x 1011 Nm~?2)

(1) 225 mm
(2) 175 mm
3) 1.75 mm
(4) 225 mm

Match the List - I with List - IL
List - I List - II

(A) Stoke’s law () Pressure energy

(B) Turbulence (I) Hydraulic lift

(C) Bernoulli's Principle (III)

(D) Pascal’s law (

Viscous drag
IV) Reynold’s number

Select the correct answer using the codes given below :

1) (A)-O), B)-I), (O)-(), (D)-(1V)
(2)  (A)-I), B)-(IV), (©)-(1), (D)-(II)
() (A)-1), (B)-(1), (©)-(1V), (D)-(I)
) (A)-IV), (B)-(), (O-(1D), (D)-I1I)

Surface tension of a solution is 20 X 1072 N/m. The difimef®”of soap bubble is 10 cm. The surface
energy of soap bubble is :

(1) 1.256x1072]J ¢
(2) 1.256x102] Q)
(3) 1.256x1071] o

(4)

4) 1.256x10']
A solid ball of volume V exper x&wsmus force F when falling with a speed v in a liquid. If
another ball of volume 8 V wi@ me velocity v is allowed to fall in the same liquid, it experiences

a force :

T Q
(2) 16F
(3) 4F
(4) 2F

Which one of the following statement is incorrect ?

(1) The viscosity of liquids decreases with temperature.

(2) The viscosity of gases increases with temperature.

(38)  The viscous force is inversely proportional to the velocity of the object and is opposite to the
direction of motion.

(4) The co-efficient of viscosity for a fluid is defined as the ratio of shearing stress to the strain
rate.
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49.

50.

51.

52.

If the surface tension of water is 0.073 Nm ™! then the capillary rise in a tube of radius 0.06 cm

(6=0°)

(1) 249 cm
(2) 024 cm
(3) 3.65cm
(4) 036 cm

The length of the metallic rod is 5 m at 0°C and becomes 5.02 m. on heating up to 100°C. The
co-efficient of linear expansion of the metal will be :

(1) 1x10-3/°C

(2) 2x10-%/°C
(3) 4x1075/°C
(4) 8x1075/°C

Certain amount of heat is given to 100 g of copper to increase its temperature by 21°C. If the same
amount of heat is given to 50 g of water, then the rise in its temperature is :

(Specific heat capacity of copper=400 Jkg=! K=1 and ific heat capacity of water
=4200 Jkg="1 K~ 1)

(1) 4°C 0

(2) 5.25°C

(3) 8°C 0

4) 6°C Q) ¢

A solid substance is at 30°C. To this @heat energy is supplied at a constant rate. The
temperature versus time graph is as sl% the figure. The substance is in liquid state for which

portion (of the graph) ? Q
240 Q F

o

= 210+ D E

2 .

B

5 B

Q

o 60 C

g

=

30
A Time —

(1) BC
(20 CD
(3) DE
(4) EF
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53.

54.

55.
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The phenomenon of refreezing the water into ice on removing the increased pressure is called :

(1) Fusion

(2) Sublimation
(3) Regelation
(4) Freezing

The rate of heat flow through the cross-section of the rod shown in figure is (T; > T, and thermal

conductivity of the material of the rod is K) :

Kmrn(T; — Tp)
(1) L

2
Kr(r + 1) (T — Tp)

L
) K (1, + rif (T; — Ty)
@) Km (1] + 1) (T — Ty)

2L

The following figures (I) to (IV) sh
taken along the path ABCD, th Q

&

<

e variation of volume with changing pressure. A gas is
in internal energy of the gas will be :

T D ) (R
C

v C D C v D C v

A B A B A B A

B
P — ! P - P - P -
(0 (ID (1) (IV)
1) Positive in all cases (I) to (IV)

Negative in all cases (I) to (IV)
Zero in all cases (I) to (IV)

A,-\,-\,.\
@D DN
T oo

i~

Positive in cases (I) and (II) and negative in cases (III) and (IV)
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56.

57.

58.

59.

60.

Which of the process(es) described below is/are reversible ?
(A) The increase in temperature of an iron rod by hammering it.

(B) A Quasi-static isothermal expansion of an ideal gas in cylinder fitted with a frictionless movable
piston.

(C) Anideal gas is enclosed in a piston cylinder arrangement with adiabatic walls. A weight W
is added to the piston resulting in compression of gas.

(D) A gasin a small container at a temperature T, is brought in contact with a big reservoir at a
higher temperature T, which increases the temperature of the gas.

(1) (A)and (B)
(2) (©) and (D)
(3) (B) and (C)
(4)  Only (B)

When heat is given to a gas in an isothermal change, the result will be :
(1) external work done
2) rise in temperature

(2)
(38) increase in internal energy
(4) external work done and also rise in temperature

When a system is taken from state i to state f along Q iaf, it is found that AQ=50 cal and
AW =20 cal. Along the path ibf AW =6 cal then AQ the path ibf would be :

a f Q'

2

(1) 6 cal Q
(2) 30 cal
(3) 36 cal
(4) 66 cal

The mean free path (I) in a gas is related to the interatonic distance as :
(1) 1is 10 times the interatonic distance

(2) 1is 100 times the interatonic distance

(3) 1is 1000 times the interatonic distance

1
4) lis 0 times the interatonic distance

A flask contains argon and chlorine in the ratio 2 : 1 by mass. The temperature of the mixture is
25°C. What is the ratio of average kinetic energy per molecule ?

1 2:1
2 1:2
@) 1:1
4) 1:4
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61.

62.

63.

64.

65.

As per the law of equipartition of energy each translational mode gives how many degrees of
freedom ?

1 1
2 2
¢ 3
4) 4

Which of the following(s) is/are correct about a particle in simple harmonic motion ?
(A) The kinetic energy is zero when the displacement is maximum.
(B) The potential energy is zero when the displacement is maximum.

C) The kinetic and potential energy both repeat after a period of 5
D) The total energy changes at all t or x.

(
(
(
(
(
(

1) (A) and (O)
2) (B) and (C)
3) (C) and (D)
4) (

D) and (A) @

A mass of 4 kg suspended from a spring of force con; 0 Nm ™! executes simple harmonic
oscillations. If the total energy of the oscillator is 4 J, @\aximum acceleration (in m s ~?2) of the
mass is :

1 s ’
2 15 Q)
(3) 20 ¢

4) 30 K

Two sitar strings A and B pl note ‘Dha’ are slightly out of tune and produce beats of
frequency 5 Hz. The tension string B is slightly increased and the beat frequency is found to
decrease to 3 Hz. The oti uency of B, if the frequency of A is 428 Hz, will be :

(1) 436 Hz

(2) 431 Hz
(3) 423 Hz
(4) 420 Hz

Which of the following statement is correct about the wavelength of the capillary waves on the
surface of water ?

(1) Not more than a few centimetre

(2) Not more than a few metre
(3) Not more than a few hundred metre
(4) Ranging from few hundred to several hundred metres
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66.

67.

68.

69.

A rod of length 2.3 m and radius 4 mm carries a negative charge 4.6 Xx10~7 C spread uniformly
over its surface. The electric field near the mid-point of the rod, at a point on its surface is :

(e,=8854x10"12 C2N-Tm~?)
(1) —6.7x10° NC~1

(2) —8.99x10° NC~!

(3) 6.7x10* NC~1

(4) —81x105 NC~1

An electric dipole placed at an angle of 30° with an electric field intensity 3x 10> NC~1. Tt
experiences a torque of 6 Nm. Calculate the charge on the dipole if the dipole length is 4 cm.

1) 1x1073C

(2) 2x1073C
(3) 4x1073C
(4) 1x10%C

Which of the following statement(s) is/are correct about general properties of electric field lines ?
A) Field lines are continuous curves

B) Two field lines can cross each other

C) Electrostatic field lines start at positive charges and negative charges

(A) and (B)
(A) and (C) ()

(B) and (C) Q) ¢

Only (C)

3

(
(
(
(1
(
(
(4

N
~— N N ~—

.
The figure shows the electric field lm@md three point charges A, B and C.

Which charge(s) is/are positive ? Which charge has largest magnitude ?
(1) Bis positive and C has largest magnitude

(2) Ais positive and B has largest magnitude
(3) A and C are positive and B has largest magnitude
(4) A and C are positive and C has largest magnitude
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70.

71.

72.

In a capacitor of capacitance C, charge Q energy W is stored. If the cahrge is increased up to 2 Q,
the energy stored will be :

W
O o
2 4W
W
G 5
4 2w

A network of four 8 wF capacitors is connected to a 500 V supply as shown in figure. What is the
equivalent capacitance of the network ?

B +QH_Q =
C
-Q| 2 | +2
+Q[ “T-Q

A +Q’H—Q’ P @

500 V 0

(1) 040 pF @
(2) 10.66 uF .

(3) 24.125 uF &\

(4) 32 uF

Which of the following state @ s 15/ are correct about equipotential surfaces ?
(A) The potential at al pO1R#S on an equipotential surface is same.

B) Equipotential surface§always intersect each other.

C

)  Work done in moving a charge from one point to other on an equipotentiel surface is zero.
D) Equipotential surfaces never intersect each other.

(
(
(
(
(
(
(

1) (A), (B) and (C) are correct
2)  (A), (©) and (D) are correct
3) (A) and (B) are correct

4)  Only (A) is correct
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73.

74.

75.

76.

77.

Which of the following statements is/are correct about electrostatics of a conductor ?
(A) Inside a conductor, electrostatic field is zero.

(B) At the surface of a charged conductor, electrostatic field must be normal to the surface at
every point.

(C) The interior of a conductor can have excess charge in static situation.
(D) Electrostatic potential vary throughout the volume of the conductor.
(1) (A), (B) and (C) are correct

(2)  (A), (©) and (D) are correct

(3) (A) and (B) are correct

(4) (B) and (C) are correct

The resistance of the platinum wire of a platinum resistance thermometer at the ice point is 5 ()
and at steam point is 5.28 ). When the thermometer is inserted in a hot bath, the resistance of the
platinum wire is 5.955 (). Calculate the temperature of the bath.

(1) 335°C

(2) 341°C

(38) 345°C

4) 350°C @
Drift velocity of electrons is due to : 0

(1) motion of conduction electrons due to random C@Aons

&

%

(2) motion of conduction electrons due to @ield E.

(3) repulsions to the conduction electro e to inner electrons of ions.
(4) collision of conduction electrons@ ch other.

In a potentiometer experiment Qancing length with a cell is 620 cm. When an external

resistance of 12 () is connect: allel to the cell, the balancing length changes to 432 cm. The
internal resistance of the is :

(1) 4.8

(2) 5.2

(3) 5.6

4) 6.0

The equivalent resistance of three parallel resistors is 45 (). Their resistances are in the ratio
1:3:5. The resistances of the resistors are :

1) 46 Q, 138 Q, 230 Q)
52 ), 156 ), 260
69 Q, 207 ), 345 Q)
72 Q, 216 Q, 360

A~ N /SN /S
N

= W
~— — ~— ~—
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78.

79.

80.

81.

A
An element of 0.05 i m is placed at the origin as shown in figure which carries a large current of
10 A. What is the magnetic field on the y-axis at a distance of 1 m.

(Lo =4mx 107 tesla-metre/ampere)

[ ]

A
Ax 0.05i m
(1) 45x1078T
(2) 5.0x1078T
(3) 55x1078T
(4) 6.0x1078T

A long solenoid is formed by winding 20 turns/cm. The cy @essary to produce a magnetic
field of 20 millitesla inside the solenoid will be approxim
(M—O = 107" tesla-metre/ amperej
4w *
(1) 89 A @
(2) 4.0 A o @
(3) 20A \
(4)

79 A Q§
A 12 cm long wire carrying \em 10 A is placed inside a solenoid perpendicular to its axis.

If the magnetic field insi oid is 0.4 T, then magnetic force on the wire is :
(1) 024N

2) 048 N
3) 096 N
4) 092N

The galvanometer cannot as such be used as an ammeter to measure the value of current in a given
circuit. The following reasons are :

(A) galvanometer is a sensitive device and can give full scale deflection for a small current of the
order of pA.

(B) galvanometer has a large resistance.

(C) a galvanometer can give inaccurate values,
The correct reasons are :

(1)  (A) and (B)

(2)  (B) and (C)

(3) (A)and (C)

(4)  only (C)
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82.

83.

84.

85.

86.

87.

If a material is ferromagnetic, its susceptibility is :
(I) Negative

(2) Positive and small
(38) Positive and large
(4) Negative and small

What type of magnetic substances gets strongly magnetized when placed in an external magnetic
field ?
(1) Diamagnetic

(2) Paramagnetic
(38) Ferromagnetic
(4) Both Diamagnetic and Paramagnetic

Materials suitable for permanent magnet, must have which of the following properties ?
(1) high retentivity, low coercivity and high permeability
2 Low retentivity, low coercivity and low permeability

()
(3)  high retentivity, high coercivity and high permeability
(4) high retentivity, high coercivity and low permeability @

Which of the following is the most suitable material f g permanent magnet ?
(1)  Soft Iron

(2) Steel .
(3) Lead @
(4) Nickel ¢ @

Which of the following option is a@aout Electromagnetic waves while comparing their order

of frequencies ?

(1) Radio waves < Infrare - < Gamma rays
(2) Gamma rays < Infr ays < Radio waves
(3) Infrared < Gamma < X-rays < Radio waves
(4) X-rays < Gamma rays < Radio waves < Infrared

Match the following Electromagnetic waves in List 1 with their application in List 2.
List 1 List 2

(A) Radio waves ()  Cellular phones

(B) Infrared rays (II) Radar system used in Aircraft navigation
(C) Ultraviolet rays (III)  Earth satellites to observe growth of crops
(D) Microwave (IV) To kill germs in water purifiers

Select the correct answer using the codes given below :

(1) (A, (B)-(I, (©)-IV), (D))

(2)  (A)-(), (B)-(ID), ()-IV), (D)-()

(3)  (A)-(), (B)-(1V), (O)-(), (D)-(1)

(4)  (A-IV), (B)-(1), (O)-(), (D)-(IL])
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88.

89.

90.

91.

— —
If g and B are the electric and magnetic field vectors of electromagnetic waves then the direction
of propagation of electromagnetic wave is along the direction of :

c
My my Wl ml
1

@l

The displacement current is :

ddg

(1) < dt

€ dég
(2) R dt
3) e o
( ) ° R @
5 S
(4) o9 R 0
The electromagnetic waves : @ *
(1) travel with the speed of sound.

2) travel with the same speed in all smediu

(2)
(38) travel with the speed of light inﬁ ce.
(4)

4) always require a medium to Q \

A square loop of side 20 C e51stance 2 Q) is placed vertically in the east-west plane. A

uniform magnetic field o set up across the plane in the north east direction. The magnetic
field is decreased to zero s at a steady rate. The magnitude of induced emf is :

1 x 10‘3
N

2 4 % \/150‘3 v

) 8 x f120_3 v

16 x 1073
(4) — v
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92.

93.

94.

95.

96.

97.

The inductance of a coil of 400 turns is 8 mH. A current of 5 mA is passed through it. The

magnetic flux through the coil is :
(1) 4.0x107°5Wb

(2) 4.0x10"°Wb
(3) 1.0x1075Wb
(4) 1.0x107° Wb

Which of the following statements(s) is/are correct about inductance ?

(A) The mutual inductance between two coils depends on their relative orientation.
(B) The magnitude of the induced emf does not depend upon the mutual inductance between

the two coils.

(

(1) (A)and (B)
(2) (A)and (©)
(3)  (B) and (C)
(4) only (A)

and rms current in the circuit, if the frequency of the sourceg
(1) 7.00Q, 28.0A 0
(2) 7.00Q, 301 A

(3) 660,333 A ()

(4) 6.60Q,350A

A pure inductor of 21.0 mH is connected to a source of 220 \&lne. The inductive reactance

In a series LCR circuit, at resonant freq@ impedance and current amplitude respectively

(1) Minimum, Maximum

(2) Minimum, Minimum \Q
(3) Maximum, Maximum

(4) Minimum, Zero

Current in the circuit is Wattless if :
(1) inductance in the circuit is zero.

(2) resistance in the circuit is zero.
(3) current is alternating.
(4) resistance and inductance both are zero.

Which of the following does not occur due to total internal reflection ?
(1) Mirage on hot summer days.

(2) Difference between apparent and real depth of a pond.
(3) Brilliance of diamond.
(4) Working of optical fibre.

C) The induced emf in a coil always opposes any change of current in the coil.

z, are respectively :
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98.

99.

100.

101.

102.

103.

In optical fibre, the refractive index of the core is :

(1) lower than the refractive index of cladding
(2) higher than the refractive index of cladding
(38) Equal to the refractive index of cladding

(4) half of the refractive index of cladding

Two thin lenses are in contact and the focal length of the combination is 80 cm. If the focal length

of one lens is 20 cm, then the power of the other lens will be :

(1) 166D
2) 4.00D
3) —100D
(4) 3.75

To increase the angular magnification of a simple microscope, one should increase :
(1) the focal length of the lens
(2) the power of the lens

(3) the aperture of the lens
(4)

length of the eye piece should be :

(1) 75cm 0

(2) 40 cm .

3) 4.0cm @

(4) 0.25cm . @

An equilateral prism is placed on ntal surface. A ray AB is incident onto it. For minimum
deviation, which of the f0110w1 ecomes parallel to the horizontal surface ?

Cb

\\\\ AU RN

(1) AB
(2) BC
3) CD
(4) Any one will be horizontal

Huygen’s concept of secondary wave :
(1) allows us to find the focal length of a thick lens.

(2) ia a geometrical method to find a wave front.
(38) is used to determine the velocity of light.
(4) is used to explain polarization.

the object size
The focal length of the objective of a telescope is 60 cm. '@Qmagniﬁcaﬁon of 15, the focal
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104.

105.

106.

107.

108.

Consider two plane waves of light, one incident on a thin convex lens and another on the refracting
face of a thin prism. After refraction at them, the emerging wave front respectively become :

(1) plane wave front and plane wave front
2

(2) spherical wave front and plane wave front
(3) spherical wave front and spherical wave front
(4)

i~

spherical wave front and elliptical wave front

In order to observe good interference and diffraction pattern, the necessary and sufficient conditions
are :

(A) the distance between the slits should be very small (~mm)

(B) the slit width should be very small (~mm)

(C) the distance between the slits and the screen should be large (~cm)
(D) the distance between the slits and screen should be small (~mm)
(1) (A) and (B)

(2) (A)and (©)

(3)  (A) (B) and (C)

(4)  (B) and (D)

In Young's double slit experiment, if the distance between slit@reen (D) is very large compared
to the fringe width (B), the fringes on screen will be : O

(1) parabolic

(2)  hyperbolic ()
(3) elliptical @ ¢
(4) straight lines

4
.
Which of the following statements(s) i A

correct about the diffraction pattern ?
) It has a central bright maxi ich is twice as wide as the other maxima.

(A

(B)  The first null occurs at a& /2a

(C) The intensity falls as successive maxima away from the centre, on either side.
(D) The angular size ol@ 0

( A), (B) and (C)
(
(
(

(A), (B

(A), (B) and (D)
(A) (

(A)

al maximum increases when the slit width a decreases.

N =
~— — ~— ~—

3
4

A
A

, (©) and (D)
and (B)

Which of the following statement(s) is/are correct about the features and observations of
experimental study of a photoelectric effect ?

(A) Photoelectric current is directly proportional to intensity of incident light.

(B) Saturation current is inversely proportional to intensity of incident light.

(C) Emission of photoelectrons occur only at frequency greater than threshold frequency
(D) Photoelectric emission is an instantaneous process.

(1) (A), (B) and (C)

(2)  (A), (©) and (D)

(3)  (B), (C) and (D)

(4)  (A), (B) and (D)
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109.

110.

111.

112.

113.

114.

Monochromatic light of frequency 6.0 x 10'* Hz is produced by a laser. The power emitted is
2.0x10~3 W. Then the energy of each photon in the light beam and the total number of photons
emitted per second, on an average are respectively : (h=6.63x10734]s)

(1) 3.98x107197], 2.0x 101>
(2) 3.98x107197, 5.0x10'°
(3) 3.98x107197, 2.0x10'°
(4) 3.98x107207, 5.0x10'°

In a photoelectric experiment the stopping potential for the incident light of wavelength 3000 A is
2 volt. If the wavelength be changed to 4000 A, the stopping potential will be :

(1 2V

(2) zero

(3) lessthan2V
(4) more than 2V

According to Einstein’s photoelectric equation, the plot of the stopping potential for different
materials vs the frequency of the incident radiation is a straight line whose slope :

(1) depends both on the intensity of the radiation and the material used

()

(3) depends on the nature of the material used

(4) is the same for all the materials independent of i) sity of the radiation
t

depends on the intensity of the radiation

If an electron (e), an a-particle(a) and a proton (p,
of the magnitude of the de-Broglie wavelengt 1

e same kinetic energy, then the sequence

(1) Ae>X, >\,

P VESVEDW \

(G) A > A >N K

@) N> N> s\’Q

In Rutherford’s a-particl g experiment, for a large impact parameter (b), the scattering
angle 0 is about :

(1) 180° Q

(2) 90°

(3) 45°

4) 0°

If ‘r,” is the radius of the lowest orbit of Bohr’s model of H-atom, then the radius of nth orbit is :
1) 2ry
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115. The binding energy per nucleon (E, ) is practically constant and independent of the atomic number
for nuclei, when mass number (A) :

(1) 30<A<170

2) 30> A >170
3) 30<A>170
(4) 30> A <170

116. Match the List 1 with List 2.

List 1 List 2
(A) Hydrogen bomb ()  Fission
(B) Atom bomb (II)  Fusion
(C) Binding Energy (III)  Critical mass
(D) Nuclear reactor (IV) Mass defect

Select the correct answer using the codes given below :

(1) (A)-I), B)-(1), (©)-1), (D)-(1V)
(2) (A1), (B)-(I), (O-(IV), (D)-(II)
(3) (A, (B)-(D), (O-1), (D)-(1V)
4 (A)-1V), (B)-(ID), (O-(I), (D)-(I)

117. The mass defect in a particular nuclear reaction os 0.3 gr Qmount of energy liberated in
kilowatt hour is : @

(velocity of light=3x108 m/s) 0

(1) 1.5x10°

(2) 2.5x10° Q)

(3) 3x10° ° @

(4) 7.5x10°

118. Which of the following stateme@/ are correct about energy bands of conductors, insulators

and semiconductors ?

(A) In conductors, the v d conduction bands may overlap.
(B) Substance with ene ap of the order of 10 eV are insulators.
(C) The resistivity of a senficonductor increases with increase in temperature.
(D) The conductivity of a semiconductor increases with increase in temperature.
(1) (A)and (B)
(2) (A)and (©)
(3)  (A), (B) and (D)
4)  (A), (B) and (C)
119. The electrical circuit used to get smooth DC output from a rectifier circuit is called :
(1) Filter
(2) Oscillator
(3) Logic gates
(4) Amplifier
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120. When the P-n junction diode is forward biased then :

(1
(2
(3
4

)
)
)
)

30 Physics PGT (LDCE)(1 to 120)

both the depletion layer width and the barrier height are reduced.

the depletion layer width increases and the barrier height is reduced.
the depletion layer width decreases and the barrier height is increased.
both the depletion layer width and the barrier height are increased.
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1.

1" 1 10T foheeh SR & ?

[360° =27 ¥fead, 1°=60 fHe (60') &1 1' =60 =19 HHUE (60"')]
(1) 1.745x 104 YfezA

(2) 4.85x10~° Ifeaa

(3) 4.85x10~ % feua

(4) 1.745x10~2 ¥feam

IfE TomT (P), &5ha (A) 3R T8I (T) il gt AT 1 ot SHott o1 fordr g1 2

(1) (E'ATTY
(2)  (PAlTY

(3) pl A%Tl

4) pt A%T—l

TXA cleTeh Skl Qlel kil T=2w\/§|LWﬂTﬁﬂﬂH4o.Ocm, i IREE T A € T 2 s
fasiga i FarE =L gRI 200 Tl 1 THT 180 s U AT ¥ | [ ‘g’ o A o fefRo § afgrsa
forat §2

1) 2% (:)
Q) 7% .

3) 3% Q)

(4)

4) 4% . @

foRdl = T Y& ST 6.407 m A9 \meaﬁﬁwwmwwmqmw%?
D s C’b\

(3) 164.199 Q

(4) 246.2979

Adfedti A = 7+ 2? _RERB= -0+ T ok ¥ ofte Yo A frem A R2

n 5

@ <

G) 5

@ 3
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6.

e Fael 1 el 14 cm 521 6f T adet el W feerar @ 80 s H 6 Fah T YT €| SHH! HIvi™
=Tt 3R 0T T YIRETOT ShAs: €

(1) 04713 rad/s 3R 3.10 cm s~ 2
(2) 04713 rad/s 3R 31.02 cm s~ 2
(3) 0.7413 rad/s 3R 3.10 cm s 1
(4) 0.7413 rad/s 3R 31.2 cm s 1

2000 g =AM o ford! fiue w1 &fdst | 45° & 101 0t e 16 m s~ 1 o1 =11 § W T SR et 720
g1 T4 fyvs % W 337 & Afehan S ¢

(1) 55m
2) 60m
3) 65m
4) 70m

= fou T fre fosred =1 a1-wma Tk fheht gaa &9 9 R fave &t frefud e 8, sefe seafer foum
=1 TR feum feran T §)

v S

v &
"

0 ‘AN

@ (:b
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9.

10.

11.

12.

FIE TR Tocd ok T gad €9 9 IR W@ ¥ I fuve et 5 AhvEl, o1t 5 YeRvel iR 3EH ST
5 WSl H AW hy, h, 31 h, IR T F@ 71 hy, h, 3R h, F == @0 Hele Fm 2
(1) h,=2h,=3h,

h h

he = 22 _ D3

2 M 3 5
h h

hy = =2 = 3
G M=

(4) hy=h,=h,

fomTerEen i SiE 59 @d 8 15 s B 60 m/s o1 THTHH 96T I 2 ol &1 39 59 gRI a9 i T2
0 fopatt B2
(1) 675 m
(2) 900 m
(3) 450 m
(4) 1800 m

T ORI H g gd-ufvem fown § ¥ 29 A, 7o foun B2 Wenh—1 den A B ufvem foun o

108 kmh 1 &} =Tt 9 TfAAM §1 ¢ A % 94T ¢ B 772
(1) 50 m/s 9f¥=H | g4 @l 3T

(2) 10 m/s 9f¥=H | g4 @l 3R ()

(3) 50 m/sTd ¥ ufv=m F 3R Q)’

(4)

10 m/s 9 9 9= &l AR . @

3
ﬁéwﬁ@w%@%ﬁm@ TRET o707 t R 39kt fXafd v = 24t — % g T =t TR

gl ﬁﬁmamtﬂmww@w%?
(1) 24 m/s? Q

(2) —24 m/s?
(3) 48 m/s?
(4) —48 m/s?

~— — ' —
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@ § Ty AR i Teeni, TS Zo5mM m, 2m 3R 3m, Trdlt S & waifsm foan T &1 e
m T S TN 7 fordt 91 F &1 sTfUa fore S W |+t g2me 90 =e v 8§ S0 &t foen § 1fd d
T TSN 2m R 2 I 1 G ? (Tl g TEATT R0 ©)

13.

14.

15.

[m ]
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o

3m lg

1) A
(2) 2mg
(3) 3mg
(4) 6mg
ot Tkl ST o Tk T | &% foRelt TR 1 ST R & & % ST U w1 oAfe 5
FeAleR g & SeAan IR Freaw famgsii 9 Tera v S’ AR T, 3R T, G W1 =18, A
= fen T i W =k TE R ?
L
(1) T,-T;=2mg @
2 To-T= ZHI;VZ ‘ @

a {1 7 o Wi Fuf SR femel 9 st § gfe fn T | A o T B e v

7?2

—>

—
a

ol

—— — <= -
C d e ‘\f

- - -
b+ e=f
— - -
b+ c=f
- - -
d+ c=f¢
- - -
d+e=f¢
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16. 60 kg A 1 s TR R TH TH W =6 @I § S 950 N o SfHeha 16l ohl Fed oh §ehel & | <l
feu U ford wohtor § 918 TR 22 ST ? (T o S ohi SUST Shifse)

(1) &g =afE 7.2 ms ™! & Th TAF 919 ¥ SN ¢ W@ 7 |
(2) & 9% AfK 52ms ™! H TH THH 91 ¥ FW ¢ W@ R |
(3) 6 9% AR 7.2 m s~ 2 F ORI Y SN 98 W@ |
(4) 98 AR 52 m s~ 2 F ORI Y SN 98 W@ |

17. @ ¥ <9t oqaR, et fog P =R i@l gR Sci=1 =R ot TRifad frg e & | el forg P fammereen
HEMaAF, R, :

2N

45° 1N
1 450

: Z
|H sd’_\

G- Gle ol
Z z
N|Z&‘ $\|Z
78,
%

N"a

<
g
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18. o FFEEl M, M, 3R M, fheft S/t § daifsa &% e forelt et P & TSR @1 81 5@ H M,
TEASIATgeish T2kl & el M, 3R M, ot %ey &fcst oot (oo qorich = ) W feora €1 foret sforéi= @ qen
ST S SULUE § 1 FSEAM M, W A i e § @R

(M; =M, =M, =M HIY)

M, M;
P
My
2
M 5
1-—2
) 8( - )
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19.

20.

21.

22.

ARG H ST STTHR T7HE M =2 kg & Thdt T2 1 ar & faoiia #E &fas sia F iy w3 fer
W@ T | AfE ek 3R FaR & s T60 YOl p=0.25 T, @ SR & faeg ek 1 aW WA & fag
eI o F 2 (g=10 m s~ 2 #fSQ)

Wall
-
7
4
M P
F /?
s
7%
7
4
7
7
(1) 20N
(2) 40N
(3) 80N @
4) 50N 0
=31 200 m o fRdt adet HIe W h1E a8 72 km/h i FHIAT T | 39 T T IR 18 =g
M % ot 30 95 & I3 1 oAeyl g g TMfew? (g=10m/s? SAST)

(1) 6=tan~1(0.2)

(2) 6=tan"1(0.3) ¢

(3) 6=tan~1(0.4)

(4) 8=tan"1(0.1)

forelt fyue W A79gH %;=6?—8?+102 =, ITH 1 m/s2 FRAT ST ©@OT Iq—
FA T 39 fyve #1 g

(1) 52 kg
(2)  10v2 kg
B) 15V2 kg
(4) 2042 kg

20 kg TEAHM I IS Mef™ g 100 m St TTel & o W fer §1 97 75 39 wre & foe = |
Jedl 1 Hag I IR el ¢, TR ot gadlt 30 m St Tt weret W wedt € IR ora: ot fae
ST SR S &Rt F 20 m T S W R, Fehell © 1 3H T §RI WG AT ® : (g=10m/s2 FAfS)

(1) 20m/s

(2) 40 m/s

(3) 10430 m/s

4) 10m/s




Set-002 8 Physics PGT (LDCE)(1 to 120)

23.

24.

25.

26.

27.

T TYvEl & s STycamey urg ot orafy ®, e < TR i 9 fdn gea Tferd Tt § 2

(1) & A Sl
(2) T AfH el
(3) Pt Xk G
(4) Tk fyve =1 =

10 g TSI i I8 Te 1000 m/s o ARFETEH o § Tehal § el § 3R T80 TR W 500 m/s o
Y ot G THAA B | AR fare 1 9 A H 5o | foRa e et 2

(1) 5000 ]
2) 3750 ]
(3) 500 ]
4) 375]

o fadier K sl foreft st # afq fe=ma st 1 71 st foon S, o S gehton | yearey fefast St o

N

1) 4:
O

2 1:
3) 2:
4) 1:

54 km/h % o 9§ THM 2 kg SeTHM o1 IS &g Teorrereen % 3 kg S9HM & Tl § €Y Heg
HIAT S | AfE FoIE & IR SHI IS TRErY T /T, FEIZ o HIROT TS Soll H Bl ©

(1) 900 ]

2) 225]

2
@ \
(3) 135] QK
(4)

1
2
1
3

4

250 | \
80 kg S 1 i Afa %wmﬁlsmﬁ%@wﬁmwéw% It
39 HE Dl T8 60 YhUS H PG ¢, O T i T v §

(g=10m/s? ity
(1) 100 W

2) 200 W
(3) 300 W
4) 400 W
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28.

29.

30.

Y TAYFT i o1 Tig JoARy GEg It § 1 39 Ulhan ® o Wi wan €27 Wl foshew @ wEm
T :

(a) %Wﬁdﬁw
(b) FA Eh FHom
(c) Uk Tig 1 A7
(d) IS S I st st
(1) (a) R (b)
2) (a) ¥R ()
(3) (b) ¥R ()
(4) (b, () ¥R (d)
it - 1 # faftre sl % frafra sngfa & = fag o faoet =1 frem g - 11 fag Te 7 stect st
g FifT :
el -1 el - 11
2
(A) Al B, TEE L (D) 2NéR @
378 : B % TEd 7 fag W C)O
S ML~
(B) o1 fewh, B R (1‘612
Y ; fetar o TroEad g W @
MR2

(C) wrEa dad 531 R, deH WQ (11I)
(D) 31 Tiren B R, A4 MR?2

= feu e wIEl %Tﬂwaﬂﬁq:

1) (A)-I), (B)-(II), (C)-(1h (D)-(IV)
(2)  (A)-1), (B)-110), (O)-(I1I), (D)-(I)
() (A)-I), (B)-(IV), (O)-(1V), (D)-(ID)
4 (A)-1V), (B)-(IV), (O-(1), (D)-(I1)

Rl HeX o ufgu st i =1t 12 Fve | 1800 rpm | IGHT 3240 rpm B ST € | RO 1 THHHM
T Y SHHT I 0T BT

(1) 2w rad/s?

(2) 3w rad/s?

(3) 4w rad/s?

(4) 5w rad/s?
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(2) ufaer w1 gfls 3= A

(3) €N YA B |

(4) 9fady iR Wehea S A 2 |

ot S7iaRer WredA & ®Rvl, fifha § 9 7 sfed & S 1?2
1) 3o deHahreta fodi # wifaen |

2) I i A SR Srafae e § At

3) BRI THS |
)

YTehTi¥Teh ISR hl TR |

(
(
(
(4

JeRTTYTeh TRIZeR H, ShIS ol STqaeh Yadhich aIdl ¢ :

(1) 9RFEE (FAFET) F TIax Gahic F HH |

(2) 9RFAYE % ST9eT Yaohich | HH |

(3) ARMHEM % TUad YRl & T | @

(4) IRMYM % T9eRA ki 1 ST 0

Y Iq o9 ek | § 3R A F I Y R T B0eme € | IS Tk oI T WIHT T 20 cm, T A T
I o SIfRT BN

(1) 1.66 D o @

(2) 4.00 D

(3) -100D K\

(4) 3.75 S&

HIYROT YA < hIoa 1 o fore, freifera B 9 58 agren s =nfea ?
(1) <9 % ®Rd gl

(2) I gHA

() oE Y (AT

(4) o I IMHER

Rl g (femapm) o Afyewaes ot WRd g 60 cm T, 1 15, Tl TS U 6 & fag T59-99

(STE-9TE) i ey U forat BT =1fey ?
(1) 759

(2) 40 G
(3) 4.0 F.H.
(4) 0.25 9.4
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102.

103.

104.

105.

Toreht Tiivees foear o1 forelt &ifast g T @ S €1 36 R AB R sfafad gt &, @ = fa=ed
% fore feifera & 9, @ = foRor &fast 98 (FR) & I9HRR 8 S § 2

3 C
D
A
TR
(1) AB
2) BC
(3) CD
(4) g o foRzor dfast St

gISTA kit fgdiaes (TMO1) T ki Hehod T :
(1) Tt Tt o =it Wik gt 1 & Tkl T

(2) TEM (%) FMA HIA Fl SAMHITH (A1 T
(3)  hTET ST T ARG A o oI I Bt T |
(4) 1 FART e i wwe 3 fon fR @

W1 o & gHaa i, W faeR wifey {598 4 uh gam g%wéﬁmmﬁﬁ@ﬁ%ﬁigﬁgm
W%WWWW&H%%@W@ pHST: I STIelt € |

(1) I9ad T IR Fae T
2) TR qUTY 3R 90da] a0 @

2
(3) TITRR T 3R MR T K\
4)

4) TR T 3R Cﬁ*—iﬂirﬁﬂ@

I SAfqeRor 3R faady & 3R Tte o ©
(A) TafEl & e = @ BT AT (~mm)

B) faRk (Yerfew) =i =ik s&d %9 Tl *1feT | (~mm)
) Tl ok whiv & ot w1 g atferes @9 =1RT 1 (~cm)
D) fafEl oI B o o= it g 7 AT A6 (~mm)

(1) (A) ¥R (B)
(2 (A) ¥R ()
(3) (A), (B) ¥R (C)
(4) (B) ¥R (D)
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106.

107.

108.

109.

I3 o 57 @teg JA 4, At fafEl iR BaH &1 g Feer (4R) it 9iST i STUaThd sigd AfHeh &
T R T &1 8|

(1) AT
(2) Afqectas

(3) <ryafae

(4) EEHE

foarda gfaey o o) H, fiford § & & 98 Fed §81 83 ?

(A) THH FEHA THE ATUHTH BT © S 3T 1 SA(Uhad |rer il &l A ol 8 |
(B) TR 3T (Y[A) \/2a W Bl T

(C) T T 3R = I IR 3Tfeshad g W S €. O ST ol &7 B Sl 2|
(D) = | e SATUhad HhIoie TR foR’) i <SR e T oed ¢ |

(1) (A), (B) ¥R (C)

2) (A), (B) &R (D)

(3) (A) (O ¥R (D) @
(4) (A) ¥R (B) O

mﬁmum%uﬁﬁmawﬁﬁﬁwﬁﬁ%@aﬁﬁ,ﬁmfﬁmﬁﬁaﬁqwﬁmmﬂ?r%/
" AN

(A) TR fagdem smafad Saret gehmt i Tren (YeeT) FHEUTT et ¥

B) HJH Y ATafdc feIfehTor shi e Bt B

T sifes smgfa W& BaT 7

(
(C) JhTI AR Tl IcESi holc]
(D) Tl foRa Scsiq T
(1)

2 (

(3) (B), (C) ¥R (D)
4)

e TSR | 6.0 x 1014 T2 T T 1 ThHavil FehTe 3cq=1 2IaT § | Seafsid o 2.0 x 103 W B df 39
TN B YT o oo gt (SEfa g9 §) gcieh i i et R Siead ufd Sehve Scfsd wier &
HEATHA: B : (h=6.63 X 1034 Js)

(1) 3.98x10719], 2.0x 10"

(2) 3.98x107197, 5.0x101°
(3)
(4)

3) 3.98x10~197], 2.0x 1015
4) 3.98x10-207], 5.0x101°



Set-002

110. Y1 agd ¥4 | 3000 A almeed F ATaaH yeRrer 1 FRIE fava 2 diee €1 9fe aieed seeet
4000 A, = fezn s &, @ et fava gmm

111.

112.

113.

114.

115.

1) 2V

2 =

(3) 2V 9 HA
4) 2V 9 sfusw
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TS o YehRIToR[d FHIRI o TR fafye aerell @ o feh fava 1 sae faferso & @ smgfa
% ere Hieft @ 2Bt § ferEeRt yavm (Bre)

(1
2

4

) fafertor ) ygea el o6t diear 9w i Eedt ¥
2) Tafeor it digar ® fef St 21

3) IgH T ®I Ypid R R et T

(4) Wit uered % fe w9 B © 8k @ fafertor w6 g W R T A €

AfE TAFRM () 3R o- H () 3R W[ (p) F T THM TGS o1t @1, a1 fesiivedt qimeed & 9fmmr =

TSR T B 2

(1) Ne>A, >N,
(2) N> A >N,
(B) N> A, >N
@) N> A> A,

TETHIS & 3TTHI-HUT YehiUH YA H SIel

(1) 180°
2) 90°
(3) 45°
4) ©°

N\

gﬁ&(b)%fwwaﬁ%aﬁmewwmz
N\

§

H&'rl'H-W%@Iﬁmeﬁﬁw%ﬁ nth ey HT e @ 2

(1) 2

i YfeRTam s e (B, ) Ta: TR SR =Jfoetas it awHTT] e § W= il © ST S e (A)

ik

(1) 30<A<170
(2) 30>A>170
3) 30<A>170
4) 30>A<170
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116.

117.

118.

119.

120.

Teil-1 iR geEii-2 &1 gafed Hifs
qeit-1

A) TGS o (

B) TR 9H (1)

C) wgd el (

ekt R (

e T TANT T Fe&l IR T 97 i

1) (A)-1), (B)-10), (©)-0), (D)-IV

2) (A, (B)-(D), (©)-IV), (D)-(I
(
)-

)-(1
3) (A, (B)-(I), (O, (D)-IV
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(©)
(D)
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o~ o~ o~ o~
~— —r N N
o~ o~ o~ o~

)
)
)
)
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2) 25x10°
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<Teteh, TR Teft IR sted=etss & St e o o) |, Fremeed § 9 SiF 9/ wo T 78 2

A) Tl H G IR AT S %ﬁ;%\'l
B) 10 eV T 1 FHll Tt aret qared gl

ATIehd g 9 G dTetsh i Ffadl

)
D) dIUshRH se] § STgaTeish ohl W@
1) (A) 3R (B) %
iR <c> Q

(B)

(B)

et feparrt aftger @ gare w9 9 fop o fofg yw w6 & fafia ygea fagda aftey seamm €
(1) fee (fFeeen)

(2) <@

(3) ISk e

4)

AasH (TAHRR)

AfE P-n TSHES I EEET FW ¢ @
) 3798 I (depletion layer) i <rer 3R Tadieeh i S (barrier height) AT T S B
) 3798 W (depletion layer) =t e og St & 31 STaRIH il SHar (barrier height) 51 STl gl
3) 3798 YT (depletion layer) <hi e w12 I § SR STeRIH ht Fes (barrier height) 51g STl 7
) 3798 U (depletion layer) hl e TR STeeE Ht ST (barrier height) S 9g STt i



